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270%1+6,000% +118] 17,820
MR MBI (2A/AB O OtOHH) 457,129 210,170 246,959
= 120,031
= 47,250
Al 289,848
Mo B2l 173,272 104,820 68,452
FlMe Bl 173,272 104,820 68,452




SA: S M
M3 RRE MBI (2 ABOIL0IH)
Erol: FMeis e (Er9): @ 2)
B . M. CHe (5 SALO] . THA 2 Al OH HEE =2}
201 LBr2g | 96,708 46,548 50, 160
01 At 2teltl 36,708 36,548 160
O1. g Et=ZH| 33,488
- MAR J|EI=EHI 7,880
2AE50 @ MDE R
300& *2,00000 28 1,200
2E NN S 24 g0l
30& *2,00001*208 1,200
TAES0Y AEON 2R
1,500& *2,000% 3,000
TAEOIES Y S A
50,000 *4JH x4 3] 800
T EdtE ME 1,000& 1008 123 1,200
CSMEH AREEE R0
15,0003 *16IH St Xl =204 480
-l JeJEN A SEH =5
A& 2,200& 1944 x50 = 12& 25,608
O5. 2| 3,220
AEs @ yaIR S
7,0003 x4Hx10L+10& 2,800
“HEZAA Y ABHEBHLA B 22
| 7,000 x2H x5 6 420
03 A2 HI 60,000 10,000 50,000
OHEANZEEAIAS 5,000,000& 22| 10,000
OXgol o Azl 50,000, 000& *1&| 50,000
202 44| 5,760 5,760 0
01 SLHA b 5,760 5,760 0
Oz H2FX0I
60,0003 x4H 42 x63] 5,760
301 B2 A= 50,804 52,512 A1,708
10 HALAHIE A= 50,304 52,012 A1,708
OAZeetsl LM oyl
60,0003 2% «501 & &l +3& 1,800
O2HITH AS2ZAIR EFAT =4
7,000 x6H~x12& 504
OLHIAH ABZANRA &5 =5
40,000 x12Z 100 48,000
12 J|Et2 43 500 500 0
ORF=SHAE S &l 2432 50,0008 *10A 500
307 212+0l & 20,000 0 20,000
04 DIZHHALE = 20,000 0 20,000
OHM9gl F=ZXAUN 018&0I0is K&
20,000,000& 12| 20,000
OHMEIAI S E S 283,857 105,350 178,507
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=z H
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5,250
12,250

= H

Bl 17,500 17,500 0
17,500
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3,000
7,000

= H

300,000 «25H 7,500
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5,250

=z H

CtAHI A SR =HEI(BEX) 5,557 4,000 1,557
2,131
3,426

=

201 L2 3,397 1,400 1,997

= 1,071
Al 2,326

01 AtR 22l 1,400 1,400 0
O1. =24 1,400
-2 OAHIAS =1l 140,000& «102] 1,400

700
700

S3 =24 1,997 0 1,997
O1. 2223 ZAHA 1,997

-HEENEHI(ZHAIE) AS2
41,6003 *4CH*1200 2 1,997

= 371
Al 1,626

=W
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,060
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N

= W

01 = LI
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,160 2,600 2440
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,100

W

=
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= HnH
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